Mathematics 9

Solving Equations (1) Date:
Solve each of the following equations:
1. a) x-3=7 b) a-2=3 C) x-2=2 d) x-3=6
e) x+2=5 f) y+6=6 g) 1l+x=4 h) 2+a=-2
2. a) 4x=12 b) 6x=24 c) 3a=3 d) 2x=16
e) —-5t=45 f) -3y=-9 g —-p=16 h)y —y=-12
X a 1 1
3. a —=3 by —=4 c) =x=7 d -y=8
) 5 ) 3 ) 5 ) 37
a 1 y —d
e) —=-2 ~b=-3 —==-4 hy —=-2
) 3 f) 2 9) . ) c
4. a) 2x+3=13 b) 5x+7=22 c) 6y+5=41 d) 4x—-5=-17
e) 6y—-4=20 f) 7n+6=6 g) 12-y=16 h) 11-6p=-49
5 a) 7x=6 b) —-5x=7 c) 10x=-6 d) -9m=-12
e) 5x+4=7 f) 4x-3=7 g) 3+10x=-22 h) 1-8a=-5
6. ) ZX-12 b) %~ 65 0 “__18 g —Y-28
3 -4 7 -6
X 3x 21x 8a
e) —=3 f) —=2 —=7 hy —=-6
) 5 ) 5 9 = ) 5
7. Q) X_+3:6 b) X__5:8 c) a;4:_3 d) x_+1:l
7 3 9 -7
- X 7X—6 4x+5 7-2X
e) —(— =7 =9 =13 h =-13
) 3 =, 9) )
8. a) 3x-5=-26 b) 5(x-6)=-15 c) —-3(n+2)=12
d) 5(x-2)-3=42 e) 3(2x+1)=-9 f) 3(2t+8)=0
9. a) XLi5-14 ) X2 112 o X101 ¢
4 9
g =X+12-0 o H-Xi1-7 n 2955
5 6 4
10. Solve and check.
a) 3x—4=23 b) 2m+5=-21 c) —5a-7=-62
d) 8y+3=-37 e) 2(3x-5)=32 f) 5(3x+4)=-10
g) 9x—(4x+7)=28 h) 4x-7(7x-8)=-34 i) 4(x-3)+9x=-38
Answers:
1. 10,5,4,9,3,0,3,-4 2. 3,4,1,8,-9,3,-16,12
3. 6,12,14,24,-6,-12, 16, 10 4. 5,3,6,-3,4,0,-4,10
S T Tt B T8 T8 Tt XB 6. 18,52,21,-24, 3,5, -5, —§
7. 39,29,-23,-8, 26, 6,-11, -29 8. -7,3,-6,11,-2,-4
9

. 28,13,-5,64,-5,3
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